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Page Error Correction
xxviii ~ Thomas J. Schlitz Thomas J. Schiltz
28 Table 3.2 Use the following values for the very fine sand diameter:
Particle size class Diameter, in.
Very fine sand 0.004-0.002
260 Paragraph 2,line3  The text should read greater than: (T)>2L + a
398 Table 11.1 Use the following values for the fine wetted area:
5 Wetted area
Soil texture o o
ft m
Fine 20-40 | 1.8-3.6
404 Equation 11.3 Replace the equation with the following:
1
X
Pn EU
P, 1_ 127 x C,
Jn
473 Table 12.3 Replace the entire table with this table:
Voltage loss per 1,000 ft (305 m) of one-way wire run®
Flow American wire gauge (AWG)
(amps) 18 16 14 |14/12|14/10| 12 10 8 6 4 2 1 0 00 | 000 | 0000
R
(Q/1,300‘) 6.385 | 4.016 | 2.525 | 2.057 | 1.762 | 1.588 | 0.999 | 0.628 | 0.395 | 0.249 | 0.156 | 0.124 | 0.098 | 0.078 | 0.062 | 0.049
—
0.1 1.28 | 0.80 | 0.51 | 041 | 035 | 0.32 | 0.20 | 0.13 | 0.08 | 0.05 | 0.03 | 0.02 | 0.02 | 0.02 | 0.01 | 0.01
0.2 255 | 161 | 1.01 | 0.82 | 0.70 | 0.64 | 0.40 | 0.25 | 0.16 | 0.10 | 0.06 | 0.05 | 0.04 | 0.03 | 0.02 | 0.02
0.3 383 | 241 | 152 | 1.23 | 1.06 | 095 | 0.60 | 0.38 | 0.24 | 0.15 | 0.09 | 0.07 | 0.06 | 0.05 | 0.04 | 0.03
0.4 511 | 3.21 | 202 | 1.65 | 1.41 | 1.27 | 0.80 | 0.50 | 0.32 | 0.20 | 0.13 | 0.10 | 0.08 | 0.06 | 0.05 | 0.04
0.5 6.39 | 4.02 | 253 | 2.06 | 1.76 | 1.59 | 1.00 | 0.63 | 0.40 | 0.25 | 0.16 | 0.12 | 0.10 | 0.08 | 0.06 | 0.05
0.6 766 | 4.82 | 3.03 | 247 | 211 | 191 | 120 | 0.75 | 047 | 030 | 019 | 015 | 0.12 | 0.09 | 0.07 | 0.06
0.7 894 | 562 | 3.54 | 2.88 | 2.47 | 2.22 | 140 | 0.88 | 0.55 | 0.35 | 0.22 | 0.17 | 0.14 | 0.11 | 0.09 | 0.07
0.8 10.2 | 643 | 404 | 329 | 2.82 | 2.54 | 1.60 | 1.01 | 0.63 | 0.40 | 0.25 | 0.20 | 0.16 | 0.12 | 0.10 | 0.08
0.9 1.5 | 723 | 455 | 3.70 | 3.17 | 2.86 | 1.80 | 113 | 0.71 | 045 | 0.28 | 0.22 | 018 | 014 | 0.11 | 0.09
1.0 12.8 | 8.03 | 505 | 411 | 3.52 | 3.18 | 2.00 | 1.26 | 0.79 | 0.50 | 0.31 | 0.25 | 0.20 | 0.16 | 0.12 | 0.10
2.0 25.5 | 161 | 101 | 8.23 | 7.05 | 6.35 | 400 | 2.51 | 1.58 | 0.99 | 0.63 | 0.50 | 0.39 | 0.31 | 0.25 | 0.20
3.0 - 241 | 152 | 123 | 106 | 953 | 599 | 3.77 | 237 | 149 | 094 | 0.74 | 0.59 | 0.47 | 0.37 | 0.29
4.0 - 321 1202 | 165 | 141 | 127 | 799 | 503 | 316 | 199 | 1.25 | 099 | 0.79 | 0.62 | 0.49 | 0.39
5.0 - | 402 | 253 | 206 | 176 | 159 | 999 | 6.28 | 395 | 249 | 1.56 | 1.24 | 0.98 | 0.78 | 0.62 | 0.49
6.0 - | 482 (303|247 | 211 | 191 | 120 | 7.54 | 474 | 298 | 1.88 | 1.49 | 1.18 | 0.94 | 0.74 | 0.59
7.0 - - | 354 | 288|247 (222|140 | 879 | 553 | 3.48 | 219 | 1.74 | 1.38 | 1.09 | 0.87 | 0.69
8.0 - - | 404 | 329|282 (254|160 | 101 | 632 | 398 | 250 | 198 | 1.57 | 1.25 | 0.99 | 0.78
9.0 - - | 455|370 | 317 | 286 | 180 | 1.3 | 711 | 447 | 2.81 | 223 | 1.77 | 140 | 1.11 | 0.88
10.0 - - | 505|411 | 352 | 31.8 | 200 | 126 | 790 | 497 | 313 | 248 | 197 | 1.56 | 1.24 | 0.98




Page Error Correction

575 Line 23 5 mile/h (8.0 m/h) should be 5 mile/h (8.0 km/h).

575 Equation 14.1 < 0.75 should be < 0.65, then the wind is over 5 mile/h (changed in 2012).

575 Example 14.1 The “Then” statement reads 0.646 ft and should be just 0.646. The last line should be
5 mile/h (8.0 km/h).

582 Example 14.3 Just before #4, insert “Test run time is 5 minutes.”

607 Example 14.7 NPC natural gas is 66.7 per MCF.
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